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SECTION - A 10 x 2 = 20

VERY SHORT ANSWER TYPE QUESTIONS

Answer All questions. Each question carries 2 marks.

If fi1R—= R, g:R—> R are defined by f(x) =3x— 2 and g(x) = ¥+ 1, then find
(zof H2).

Find domain of the function ¥dx —x°.

Leta=i+2j+3kandb =3i+j. Find the unit vector in the direction of & + b,
Show that the vectors i +j, j + k, — k + i are linearly dependent.

Ifa=i+j+kandb=2i+3j+k, find the length of the projection of b on a and
the length of the projection of @ on b.

: tan 160" = tan 110° 1 — a2
If tan 20° =2, prove that : e e
= I +tanl60” - tam 110° 2 A

Find the maxinmum and minimum values of sinx sin {(60° +x) sin (607 — x).

If cosh x = 5/2, find the value of cosh 2x and sinh 2x.

In A ABC, express E r, cot (4/2) in terms of ‘s’
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SECTION-B 5x4=20

SHORT ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question ¢carries 4 marks.

If the amplitude of [—'-a-'--_- (ﬂ 13 2, find the equation of locus of =z,
z—0i)

Find the vector equation of the planc passing through the points 4% — 3 — k,
3i+ 7j— 10k, 2§ + 5§ — 7. Show that the point i+ 2§ — 3k lics in this plane.

fa=2i+3j+4k. b=i+j-kand c=i-j+ I compute a x (b x ¢) and verify
that il is perpendicular to &,

IfcosP >0, tan O +sin =, tan § — sin H = n then show that ' —u” = 4dmn.

T AR gl ST L
If tan [2 sin H}—cm [2 mbﬂj,then show tha‘r.sm\ﬁ | 4]—t i
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Show that Tun . + Tan 5 + Tan 5T
Show that & cos (B~ C)+ b cos (C—A4) + ¢* cos (4 - B) = 3abc.

Show that sin’ 0 :6%1 [35 sin © — 21 sin 30 + 7 sin 50 — sin 78).

SECTION - C  BEx7=35
LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions, Each question carries 7 marks.
Lelf:4— Band g: B— C be bijections. Prove that gof: 4 — C is also a bijection.

Using the pninciples of Mathematical Induction, prove that

2
2t +§H+ 11}, forall n =

If a, b, c are three unit vectors such that ax (b x c};%b then show that
(a, b) = 90°, (a, e) = 60°. )

N

23+34+45+... upton terms =

If4+B+C=180° prove that cosd+cos B—cos C=—1+4 cos % cusgsin %

In A ABC, prove that ¥ +r, +r, —r;=4R cos C.

From the top of a lree on the bank of a lake, an aeroplane in the sky makes an angle
of elevation o and its image in the river makes an angle of depression B. If the
height of the tree from the water surface is *a’ and that of the height of the

_asin (o + )

aeroplane 1s *A°, show that h=— :
sin (3 — o)

Solve the equation x'+ 1 =0



